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ALLVIRA 1 100 0.3 100 RE = (s} et 400 O, 7RO o
ALVIRA i 100 b= e o : 400 0. 7FEO s
ALVIRA 1100 = = = 400 1
ALVIRA 1 = el = 400 =
ARMAGH 1 0.2 100 I K] 400 Z
ARMAGH 1 o 100 ] = 400 =
ATEINS 1 =] 100 4 Q 400
ERACEVILLE 1 = 100 ] ] 400 =
ERINKERTON 1 0. & 100 3 ] 400 1% =
ERINEERTON 1 [ 100 ] ] 2 400 1.5 z
CANADICE 1 O 5 0 3 400 O.435 O.214 I
CAVIDE 1 0.8 ] 3 ] 400 0O [N 8 =
CAVIODE 1 0.3 = = 15 400 0O Q. A4 1
CAVIDE 1 = ] 15 =5 400 2 0 & 1
CAVIDE 1 2] 100 3 = 15 400 0 (o] 1
CHENANGD 1 I 100 ] (] ] 400 O i ]
CHENANGD 1 ] 100 e ] = 400 € 1 =
CHENANGC) 1 100 Q.5 100 3 = 15 400 ( i =
CHENANGD 1 100 0.5 100 3 15 ] 400 1 1
CHIFFEWA 1 = 100 = e = 400 0 &
G 1 & 100 3 0 = 400 Q
Cl 1 =] 100 e ] = 400 o] =
G 1 = 100 0,3 = = 15 400 0.7 1
COOEFDORT 1 k] 100 0.24 = a 15 400 1.0 =
ERNEST 1 = 100 QO.43 3 ] = 400 Q =
ERNEST 1 0.5 100 0,43 3 = 15 400 Q. 1
ERNEST 1 0.3 100 0.38 e 15 =5 400 0 1
GILFIN 1 & 100 0.24 = 3 =] 400 1. =
GILFIN 1 G 100 0.24 3 b 15 400 1.000 =
GILFIN 1 o 100 O. NA ] 15 o 400 1
GILFPIN 1 b= 100 0.24 e i &0 400 1
GILFIN 1 = 100 0.24 ] = 15 400 s
HANDVER 1 = 51 100 0,37 4 3 k] 400 b
HANOVER 1 O.= B 100 Q.27 4 = 15 400 i
HANIVER 1 0.8 &) 100 0.2 4 15 25 400 11,780 1
HANDVER 1 0.2 <13 100 037 4 ] 25 E0. 4449 1
HANOVER i 0.2 (] 100 0,23 4 15 5 11,780 i
HAZLETON 1 0.8 100 e [a} 2 ]
HAZLLETON 1 0.8 100 3 = = =
HAZLETUON 1 0.8 100 ] ] 15 100 e
HAZLETON i 0.8 100 ) i85 s 1
HAZLLETON 1 Q.8 100 e (] = bt
HAZLLETON 1 100 0.8 3 o i
HAZLLETIN 1 100 0.3 100 = Pt ) =20 400
LORDSTIIWN 1 100 0.2 100 = e = 400
LORDSTOWN 1 100 0.8 100 = = i85
LORDSTOWN 1 100 0.8 100 e 1% 8 400 1
LORDS TN 1 100 0.3 100 o el T0 4001 1
MARDIN 1 100 = 100 = (o] 3 400 e
MARDIN 1 100 4 100 3 ] b=] 400 bt
MARDIN 1 100 t 100 ] = ] 400
MARDIN 1 100 0.2 100 = 15 &) 400 1.000
MARDIN 1100 0.2 100 3 15 ] 400 S0 1. 000
MEDIHEMISTS 1 EBO 0.3 100 4O00ERROR ERROR ERROR ERRD
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FOFE 100 0.37 [ [x] 3 400 QL0487 2
REXFORD 100 0.4 I al & 400 0.0 1. 000 e




RES L 100 100 ] 100 400 0.0 0L 435 1,000
PG SCI0 1100 100 e 100 400 0,08 0. 490 =
AOTEHC SHELMADINE 1 100 100 2 15 100 400 0,991 D.7E0
GEOREVC GHELMAD INE i 100 100 = = 1t 100 400 0.9%1 [ 1. Q00 =
DILINA UNADIL.L-A 1100 0.8 100 0,45 = o 100 400 0.087 O, 0,490 3
DIVEA VENANG 1 100 (e ] 100 4 0 100 400 o 3
1 100 QL 100 ES 5 100 400 1 =
1100 0.8 100 4 . 400 £ S
VEMNANGD 1 100 Q.3 100 4 400 = =
IMAYI_AND 1 100 [y 100 I 0 400 o 3
WHI WHARTION 1 100 0. 100 = = 400 1 =
OFWHC WHC WHAR TN i 100 0. 100 e 400 5
O WHD WHD WHAFRTON 1 100 0.5 100 = 400 11
O WOE WO RIS TER 1 100 O O 100 4 o 400 1
A OPNIC Woc WONSTER 1 100 005 s} 100 4 400 =
Q@D WD WONSTER 1 100 Q.8 O 100 4 15 400 11 1




